% 4 7 ras

NG|
1

Oria) Y <l Jasad)

ol

5,2 x y(—z) (x4 « y4)2
4x CD(DY

5xD x D2 x 3y
3P

5x7 % y(—l) (x4 % y4)(—2)
3 x y(—2)(x2)2

617 x D (D) x 2

9% YD)

57 x Y2 x 2D
8 x y(—l)(x3)2

Al

&8 x 15t x 2
2% D)

20 x Pt <ty

27 x Y2 X7y
4 DY

6 x y3x2 (X3 )5x(—3) (y4)4

532 x D (D x (D6

www.snowmath.com



https://www.snowmath.com

% 4 7 ras

NG|
1

Oria) Y <l Jasad)

ol

52 x YDt x AP
4 x YD (x(=D)2

5128
47

5xCD % D3 x A
3 26D

5138
3t

5.X7 % y(—l) (x4 % y4 )(—2)
3 D)
5
3 xS y7

617 x D (D) x 2
9x Y2

255

377

5¢7) x (2 x 12 )2
8 x y(—l)(xs)z
5
8x17y8

Al

8x(—8) x y5(x4 ><y4 )(—2)
2% DD
4

x17y

22 x yz (x4 " y(—z))s
2122
8

20 x Y92 x )
4 P

x18

2

6 x y3x2 (xS )5x(—3) (y4)4

6x14y19

532 x D (D x (D6

5

x8y14

www.snowmath.com



https://www.snowmath.com

